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:Complete each of the following (1 FAMILY | ScrooL
............. =a)4X8=........... d)5x7
............. =b)9X5=........... e)6Xx4
............. =c)20+5=........... f)36+4

A)4X o, = 16 d) e +6=5
b) 25+ .ounnn., =5 €) e, X 4 =28
) T 2324  ¢)5X.riin..... = 40

:Choose the correct answer (3

a) Fifty thousands eight hundreds twenty fouris ............
(5824 or 50842 or 50824 or 58024

)

b) The place value of 7in71380is ...............
( thousands or 70 000 or 7 000 or ten thousand

.................. =¢) 30 + 5000+ 90000 + 2
or 95320 or 9532 or 90532 03295)

.............. d) The smallest 5-different digit number is

or 10234 or 10000 or 1023 764 98)
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